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at are the properties of a normal
Ipret the result.

(N = 30)
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GROUP-C
3. Answer any one question from the following: SX] =3
(a) What are the uses of Ogive? .
(b) Describe different types of Kurtosis. S
(¢) Find out the Mean Deviation from the given scores: 5

15, 34, 22, 27, 19, 31, 28, 20, 16, 38

GROUP-D

4. Answer any fen questions 1x10 =10

(a) What 1s Range”

(b) Mention any one measure of Dispersion.

(¢) Who invented Normal distribution?

(d) A parameter is a population characteristic. (True / False)

(e) The middle value of an ordered array of numbers is called Mode. (True / False)

(f) The sum of percent frequencies for all class will always equal
(1) 10, (1) 0, (i) 50, (1v) 100.

(g) In a week the prices of a bag of rice were 350, 280, 340, 390, 320, 300. The
range 1S
(i) 60, (i) 70, (1) 80, (1v) 100.

(h) The mean of a 7-score 1s always

(1) The nearest measure of dispersion 1s

(j) Coefficient of correlation 1s used —
(i) to measure the strength of relationship between two variables.
(11) to measure validity of test.
(1) to measure skewness.
(1v) to measure kurtosis.

(k) The graph that uses bars to represented the frequency of numerical data that are
organized into interval 1s:

(1) Bar Graph  (i1) Histogram  (iii) Frequency Table  (1v) Ogive

(1) If 30% of a reference group scored higher than a particular student on a test, his
score would be:

(i) At the 30" percentile (ii) At the 70" percentile
(iii) At the 71% percentile (1v) At the 29" percentile
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